B FN34E AKoH OB OB R (OER H T £ E)
%K P FUKIRATH J5UK) B2 T 5K B3I THT JRUK)
A TE H KB RVE | BONIE | B/ME | CFME | | K | NE | BONE | PR o 2 | BONE | BB | CPOE | | K
N OV

— R 1001 /ml 0 0 o 0 12 0 0 ol 0 712 0 0 o[ 0o 712
PN BEhans s Nian THEH Akl 0 12 AhEH AR ARl 0 12 AhRH THEH AR 0 7 12
BRI L N DIbER 0.003 mg/l < 0.0003 [< 0.0003 < 0.0003] 0, 1]< 0.0003 [< 0.0003[< 0.0003] 0  1]< 0.0003 K 0.0003 K 0.0003] 0 1
KSR X DALEY) 0.0005 7 < 0.00005 [< 0.00005 [< 0.00005 [ 0 1]< 0.00005 [< 0.00005 [< 0.00005] 0  1]< 0.00005 K 0.00005 k 0.00005] 0 1
LU NDPZEOEY  10.01 < 0.001]<  0.001 < o0001] 0 1K 0.001]< 0.001[< 0001] 0 7 1K 0.001K 0001lK 0.001]0 1
S M OZFDILEY 0.01 ” < 0.001[< 0.001]< 0001 o 1fJ< 0.001]<  0.001[< o0.001] 0 1] o001k o000tk 00010 1
EZ M ZEDILEY) 0.01 » < 0.001[< 0.001]< 0.001] o 1k o0.001[< o0.001]< 0001 0 1] o000tk 0001k 00010 7 1
NN A=) 0.02 » < 0.002 [< 0.002 1< 0.002] 0o af<  0.002 < 0.002 < 0.002] 0 4] 0.002k 0002k 0.002] 0 4
A REHE 25 35 0.04 1 < 0.004 1< 0.004 [<  0.004] 0, 1J<  0.004[<  0.004]<  0.004] 0 1] 0.004 K 0.004 K 0.004] 0 / 1
LT AAA L KOSy T [0.01 0 < 0.001]< 0.001[< 0.000] o 1J< o0.001[< o0.001[< o0.001] 0 7 1<K o000tk  o0.001k 00010 1
B R 2= 2 N ONLAE R RE 22 H 10 I 6.74 5.89 6.14] 0, 12 6.37 5.25 5.53 | 0 7 12 6.70 5.43 6.03] 0 12
TR M OZOILEY 0.8 < 0.05 |< 0.05 [< 0.05] 0/ 1K 0.05 [< 0.05 |< 0.05] 0 / 1k 0.05 K 0.05 K 0.05[ 0 1
RUZMOZOEY 1.0 < 0.02 [< 0.02 < 0.02] o 1J 0.02 < 0.02 [< 0.02 0 / 1] 0.02 K 0.02 K 0.02f 0 1
ERIAES 0.002 ” < 0.0002 [< 0.0002 < 0.0002 [ 0 4f]< 0.0002 [< 0.0002 [< 0.0002] 0  4]< 0.0002 K 0.0002 Kk 0.0002] 0 4
1,4- A% 0.05 < 0.005 < 0.005[< 0.005] 0o 1] 0.005[< 0.005]< 0.005] 0 1] 0005k 0.005k 0005] 0 7 1
Y A-1,2=v7eexFLy O

NV A2~ JapTFly 0.04 » < 0.0002 [<  0.0002 < 0.0002 | 0 4]< 0.0002 [< 0.0002 [< 0.0002] 0 4 0.0008 0.0006 0.0007 | 0 / 4
A=Y % 0.02 < 0.0002 [<  0.0002 < 0.0002 0 4f]< 0.0002 [< 0.0002 [< 0.0002] 0  4]< 0.0002 kK 0.0002k 0.0002] 0 4
Fro /T L 0.01 0.0023 0.0018 0.0021| 0 4 0.0049 0.0043 0.0045] 0 ~ 4 0.0009 0.0007 0.0008] 0 4
N ZooxF L 0.01 » 0.0007 0.0005 0.0006 | 0, 4 0.0006 0.0005 0.0006 | 0 ~ 4 0.0009 0.0006 0.0008| 0 / 4
~ P 0.01 < 0.0002 [< 0.0002 < 0.0002 0, 4f]< 0.0002 [<  0.0002 [<  0.0002] 0  4]< 0.0002 kK 0.0002 k 0.0002] 0 4
e 0.6 I 0/ 0 0,/ 0 0,/ 0
7o fERE 0.02 » 0/ 0 0,/ 0 0,/ 0
)L 0.06 < 0.001[< 0.001]< 0001 o 3]< 0.001]< 0.001[< 0.001] 0 3]k 0001k 0001k 00010 3
T/ aapERg 0.03 0/ 0 0./ 0 0./ 0
DA A=Y 0.1 < 0.001[< 0.001]< 0001 o 3J< 0.001]< o0.001[< 0.001] 0 3]k 0001k 0001k 00010 3
HEE 0.01 0/ 0 0/ 0 0,/ 0
NN % 0.1 Il < 0.001 < 0.001f< 0.001] 0, 3J]< 0.001[< 0.001]< 0.000f 0 3] 0.001K 0.001 k 0.001] 0 / 3
N7 ooz 0.03 0/ 0 0./ 0 0./ 0
T IO RR 0.03 < 0.001 [< 0.001]< 0001 o 3J< 0.001]< 0.001[< 0.001] 0 3]k 0001k 0001k 00010 3
7 aER)L I 0.09 » 0.001 [< 0.001[<  0.0001] 0 3k o0.001[<  0.001]<  0.001[ 0 3J]< 0.0001k 0.0tk 0.001] 0 3
FIVLT LT ER 0.08 I 0/ 0 0/ 0 0/ 0
Hen &k NZF DI EY 1.0 < 0.01 [< 0.01 [< 0.0l o 1) 0.01 [< 0.01 [< 0.0l 0o 1 0.02 0.02 0.02f 0 ~ 1
TNI=U LR NZOEW[0.2 1 < 0.02 [< 0.02 [< 002 0 1K 0.02 < 0.02 |< 0021 0 / 1K 0.02 k 0.02 k 002 0 1
RN NZDILEWY 0.3 I < 0.03 |< 0.03 |< 0.03] 0 1K 0.03 |< 0.03 |< 003 0 1K 0.03 K 0.03 K 0.03] 0 / 1
i X2 DILEY 1.0 n < 0.01 [< 0.01 [< 0.01] 0/ 1€ 0.01 |< 0.01 [< 0.0l [ 0 7 1[ 0.01 K 0.01 K 0.01] 0/ 1
TR LN DL EY 200 » 6.9 6.9 69| 0, 1 6.8 6.8 681 0 7 1 7.7 7.7 7710 1
<~ A K OZEDILEY 10.05 v < 0.005[<  0.005]< 0005 0o 1< 0.005]< 0.005[< 0005] 0 1] 0.005K 0005k 0.005] 0 1
T A 4 200 8.4 7.7 g2 o 12 7.8 7.4 761 0 12 14.9 12.7 13.71 0 12
TV e R WEGERE) [300 0 114 114 114 0/ 1 109 109 109 0 7 1 147 147 1470 71
TR 500 U 183 183 183] 0 1 178 178 178l 0 7 1 291 221 221 0 / 1
BEA 7 S G A 0.2 ] < 0.02 [< 0.02 [< 0.02] o 1J 0.02 [< 0.02 [< 0.02] 0 / 1]« 0.02 K 0.02 K 0.02[ 0 / 1
VA AL 0.00001 7 J<0.000001 [< 0.000001 [< 0.000001 [ 0  1]< 0.000001 [< 0.000001 [< 0.000001] 0 ~ 1 ]<0.000001 K 0.000001 k 0.000001 [ 0 ~ 1
92— AF LA VARL A —MIB) 10.00001 # ]<0.000001 [< 0.000001 [< 0.000001 ] 0 1< 0.000001 [< 0.000001 [< 0.000001 | 0  1]<0.000001 kK 0.000001 K 0.000001] 0 / 1
FEA A F i iE A 0.02 I < 0.002 < 0.002]<  0.002] 0o 1<K 0.002[<  0.002]< 0.002] 0 7 1] 0002k 0002k 00020 7 1
7 /) —)VFA 0.005 < 0.0005 [<  0.0005 < 0.0005 [ 0, 1]<  0.0005 [<  0.0005 [<  0.0005] 0  1]< 0.0005 K 0.0005 kK 0.0005] 0 1
GHE(EARIRFETOODE) 3 7 < 0.2 [< 0.2 [< 0.2 0. 12K 0.2 [< 0.2 [< 0.2 0 /12 0.2 k 0.2 k 0.2 0 12
pHAE 5.8~8.6 7.1 6.9 7.0 0/ 12 7.0 6.8 69| 0 12 7.1 6.8 69 0 7 12
e B TR Haal] Bl EEARLL 0 12| EEALl Bl BEALl o 12 BEsL|] BEEAL] BEsaeLl o 12
A ) warielL ] BmuseL] BmEsaLl o 12| B | BmuEAL] RmEaLl o 12| Easal] BEkl] RmEaLl o 12
i 5 < 0.5 |< 0.5 [< 05 0, 12|K 0.5 |< 0.5 |< 05| 0 /12| 0.5 k 0.5 k 0510 712
) 2% < 0.1 [< 0.1 < 0.1 0,/ 12K 0.1[< 0.1 [< 0.1/ 0 7 12[ 0.1 k 0.1 K 0.1/ 0 7 12
oM e - 0 0 o 0 12 0 0 0l 0o 712 0 0 0f o0 712
1 I 2 5 Al B 11220008 F(BTE) 9 9 9 o, 1 1 1 1o 7 1 4 4 410 / 1
JVTRAR) T A 1/ 101 0 0 0] 0/ 4 0 0 010 7 4 0 0 0l o0~ 4
TN T fi# /101 0 0 0] 0 4 0 0 0] 0 7~ 4 0 0 0] 0 7 4
AU R mS/m 26.7 26.0 26.3 12 26.1 24.7 25.3 12 33.8 32.0 33.0 12
JK C 18.0 16.7 17.3 12 18.0 16.8 17.4 12 17.5 16.8 17.2 12
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AR3EE Kk H OB B O R (B P L)

£ K 5 il _ 15 (JFK) _ _ T3 (J5UK) _ P45 (JFK) _ _ 550 (JEUK) _ A TR (5UK) _ _ P9 R B K BT (k)
R H %Jz%*%{/ﬁ wmAE | BME | CESE | B | RKE | mAME | RS | Dk | &K | meME | CESME | B B | RORME | SME | CEEME [ R 2k | AROKiE | &ME | CFERE | R OB | mOKME | mME | CEESME | R 3K
NEL7
— R 1001#/ml 9 0 210 /12 0 0 0lo 7 8 5 0 110 7 9 0 0 ol o 12 340 0 28 0 /12 5 0 1] 0 12
KIGE Hrishanc Y R A A 0 12 A A Rt 0 8 Nl N dus! ] 0 9 N dunl A R 0 12 A A ] 0 12 A A ] 0 12
HRIT L PFDALAEY[0.003 mg/l [ 0.0003 < 0.0003 [< 0.0003] 0~ 1]<  0.0003 [<  0.0003 [<  0.0003] 0 ~ 1]< 0.0003 [< 0.0003 [<  0.0003] 0 ~ 1]< 0.0003 < 0.0003 < 0.0003] 0~ 1[< 0.0003 [< 0.0003 [<  0.0003] 0 ~ 1]< 0.0003 [< 0.0003 0.0003| 0 1
KK O DILEW 0.0005 ” <_0.00005 |[< 0.00005 |[< 0.00005 | 0 1 [< 0.00005 [< 0.00005 [< 0.00005] 0 ~ 1]< 0.00005 [< 0.00005 [< 0.00005 ] 0 ~ 1]< 0.00005 [< 0.00005 [< 0.00005 | 0 1 [< 0.00005 [< 0.00005 [< 0.00005 | 0 ~ 1]< 0.00005 [< 0.00005 K 0.00005] 0 1
YLK OZEDOEY 001 < 0.001]<  0.00L]|< 0.00L] 0 1] 0.001[< 0.001]< 0.001] 0 ~ 1]< 0.001[< 0.001f< 0.000]0 ~ 1]< 0.001]<  0.001]<  0.001] 0 7 1J<  0.001[<  0.001]< 0.001] 0 7 1]<  0.001[<  0.001 0.001| 0 1
K OZFDILEY 0.01 < 0.001]<  0.00L]|< 0.00L] 0 1] 0.001[<  0.001]< 0.001] 0 ~ 1]< 0.001[< 0.001f< 0.000]0  1]< 0.001]<  0.00L]< 0001 0 7 1J<  0.001[<  0.001]< 0.001] 0 7 1]<  0.001[<  0.001 0.001| 0 1
EEMROPZDLEY 0.01 < 0.001]<  0.00L]< 0.00L] 0 1] 0.001[<  0.001]< 0.001] 0 ~ 1]< 0.001[< 0.001f< 0.000]0  1]< 0.001]< 0.00L]< 0.001] 0 7 1J<  0.001[<  0.001]< 0.001] 0 7 1]<  0.001[<  0.001 0.001| 0 1
SMizaMbE Y 0.02 < 0.002 < 0.002]<  0.002] 0  4J<  0.002 [<  0.002 < 0.002] 0 7 3]<  0.002[< 0.002[< 0.002] 0  3]<  0.002]<  0.002][<  0.002] 0 4]<  0.002 < 0.002]<  0.002] 0 7 4]<  0.002 [<  0.002 0.002] 0 1
HAEREIEE R 0.04 < 0.004 < 0.004]<  0.004] 0  1J<  0.004 < 0.004 < 0.004] 0 7 1]<  0.004[<  0.004[<  0.004] 0 7 1]<  0.004]<  0.004[<  0.004] 0 7 1]<  0.004 < 0.004]<  0.004] 0 7 1]<  0.004 [<  0.004 0.004] 0 1
A A ROk 7 [0.01 < 0.001[< 0.00L]< 0.00l] 0 7 1J<  0.001[<  0.000[< 0.001] 0 7 1]< 0.00L[< 0.00L[< 0.000]0 7 1]< 0.00L]<  0.00L]< 0.001] 0 7 1[<  0.001[< 0.001[< 0.001] 0 7 1]<  0.001[< 0.001 0.00l] 0 1
[ifsRez 2 % O fEERREZE ] 10 I 3.92 3.21 3.43[1 0 12 2.60 2.17 23910 7 8 4.56 3.98 4181 0 /9 2.66 2.02 2361 0 7 12 6.48 5.98 6.20] 0 12 3.32 2.58 2971 0 12
TR M OZOILEY 08 < 0.05 < 0.05 [< 0.05[ 0 ~ 1] 0.05 [< 0.05 |< 0.0 0 / 1] 0.05 |< 0.05 [< 0.06] 0 ~ 1] 0.05 [< 0.05 |< 0.0 0 / 1] 0.05 |< 0.05 [< 0.06[ 0 7 1| 0.05 [< 0.05 0.06| 0 1
KR OIZFOIEY (1.0 < 0.02 |< 0.02 [< 0.02] 0 1 0.03 0.03 0.03] 0 / 1] 0.02 < 0.02 [< 0.02] 0 / 1 0.02 0.02 0.02] 0 / 1] 0.02 < 0.02 < 0.02[ 0 7 1 0.02 0.02 0.02] 0 1
DUt bR & 0.002_» <_0.0002 [<_0.0002 [<_0.0002] 0~ 4]<_0.0002 [<  0.0002 [< 0.0002 [ 0~ 3]< 0.0002 [< 0.0002 [< 0.0002] 0 3]<_0.0002 [<  0.0002 [< 0.0002 [ 0~ 4]< 0.0002 [<  0.0002 [< 0.0002]| 0 4]<_0.0002 [<  0.0002 0.0002| 0 1
1,471“/;71%'247“/% - 0.05 < 0.005 < 0.005 < 0.005] 0 ~ 1]<  0.005[< 0.005[< 0005 0 ~ 1]<  0.005]< 0.005]< 0.005] 0 ~ 1]<  0.005[<  0.005[< 00050 7 1]< 0.005]< 0.005]< 0.005] 0 7 1]< 0.005[<  0.005 0.005| 0 1
Y A-1,2-Y yunxFl s \
Ny A-1.2-v apzdLy 0.04 <_0.0002 |[<_0.0002 < 0.0002 | 0 . 4]<_0.0002 [<  0.0002 [<  0.0002 | 0  3]< 0.0002 |< 0.0002 < 0.0002 | 0  3]<_0.0002 [<  0.0002 [<  0.0002 | 0 ~ 4]< 0.0002 |< 0.0002 < 0.0002| 0 4]<_0.0002 [<_ 0.0002 0.0002| 0 1
vranrg 0.02 <_0.0002 [<_0.0002 [<_0.0002] 0 . 4]<_0.0002 [<_ 0.0002 [< 0.0002 [ 0~ 3]< 0.0002 [< 0.0002 [< 0.0002] 0~ 3]<_0.0002 [<  0.0002 [< 0.0002 [ 0~ 4]< 0.0002 [<  0.0002 [<_ 0.0002]| 0 4]<_0.0002 [<  0.0002 0.0002| 0 1
S raaTFL 0.0l < 0.0002 [<_0.0002 [<_0.0002 | 0 4]<_0.0002 [<  0.0002 [<_0.0002] 0 3 0.0003 [<_ 0.0002 0.0002 [ 0~ 3]<_ 0.0002 [< 0.0002 [< 0.0002] 0/ 4 0.0009 0.0007 0.0008 [ 0~ 4 ]<_0.0002 [<_ 0.0002 0.0002| 0 1
~ZoaxFL 0.0l < 0.0002 [<_0.0002 [<_0.0002 | 0 7 4[]<_0.0002 [<_0.0002 < 0.0002] 0 ~ 3]<_ 0.0002 [< 0.0002 [< 0.0002] 0  3]< 0.0002 [<  0.0002 [< 0.0002 | 0 4 0.0007 0.0006 0.0007 [ 0~ 4]<_0.0002 [<_ 0.0002 0.0002| 0 1
NP 0.01 <_0.0002 [<_0.0002 [<_0.0002] 0 .~ 4]<_0.0002 [<_ 0.0002 [< 0.0002 ] 0~ 3]< 0.0002 [< 0.0002 [< 0.0002] 0  3]<_0.0002 [< 0.0002 [< 0.0002 [ 0~ 4]< 0.0002 [<  0.0002 [<_ 0.0002]| 0 4]<_0.0002 [<_ 0.0002 0.0002| 0 1
A 0.6 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
Ja iR 0.02__» 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
k)L 0.06 < 0.001 J< 0.001[< 0.000] 0 3J< 0.001 < 0.001[< 00010 7 2]<  0.001 < 0.001]<  0.000] 0~ 2]< 0.001 < 0.001[< 00010 ~ 3] 0.001]< 0.001 < 0.001]0 7 3 0/ 0
Yy auiig 0.03 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
VT OEIOORAS 0.1 < 0.001 J< 0.001[< 0.000] 0 3J< 0.001 < 0.001[< 00010 7 2]<  0.001 < 0.001]<  0.000] 0~ 2]< 0.001 < 0.001[< 00010 ~ 3] 0.001]< 0.001 < 0.001]0 7 3 0/ 0
EEa A 0.0l _» 0/ 0 0/ 0 0/ 0 0./ 0 0/ 0 0/ 0
Kb o AZ 0.l < 0.001 J< 0.001[< 0.000] 0 3J< 0.001 < 0.001[< 00010 7 2]<  0.001 < 0.001]<  0.000] 0~ 2]< 0.001 < 0.001[< 00010 ~ 3] 0.001]< 0.001 < 0.001]0 7 3 0/ 0
[P ASI= A 0.03 _» 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
TOET/auRrS 0.03 < 0.001 J< 0.001 [< 0.000] 0  3J< 0.001 < 0.001[< 00010 7 2]<  0.001 < 0.001 < 0.000] 0~ 2]< _0.001 < 0.001[< 0.001] 0 ~ 3] 0.001]< 0.001]<  0.001]0 7 3 0/ 0
7 aER/LA 0.09 < 0.001 J< 0.001 [<_0.000] 0 3J< _0.001 [< 0.001[< 00010 7 2]<  0.001 < 0.001]<  0.000] 0~ 2]< 0.001[< 0.001[< 00010 ~ 3] 0.001]< 0.001[<  0.001]0 / 3 0/ 0
RILLT LT ER 0.08 0/ 0 0./ 0 0/~ 0 0./ 0 0./ 0 0/ 0
WL K O DL A 1.0 n_ < 0.01 [< 0.01 [< 0.0l o0 ~ 1k 0.01 [< 0.01 [< 0.0l 0 ~ 1K 0.01 [< 0.01 [< 0010 ~ 1)K 0.01 [< 0.01 [< 0.0l 0 ~ 1k 0.01 [< 0.01 [< 0010 ~ 1)K 0.01 [< 0.01 001 0/ 1
TAIZU LM OZFDEW[0.2  » < 0.02 [< 0.02 [< 0.02] 0 ~ 1] 0.02 [< 0.02 [< 0.02] 0 7 1| 0.02 [< 0.02 [< 0.02[ 0 7 1[K 0.02 [< 0.02 [< 0.02] 0 7 1] 0.02 [< 0.02 [< 0.02f 0 7 1| 0.02 [< 0.02 0.02] 0 1
B OZDILEY 0.3 u < 0.03 [< 0.03 [< 0.03[ 0 ~ 1k 0.03 [< 0.03 [< 0.03] 0 7 1| 0.03 [< 0.03 [< 0.03] 0 / 1] 0.03 [< 0.03 [< 0.03] 0 ~ 1[ 0.03 [< 0.03 [< 0.03] 0 ~ 1[ 0.03 [< 0.03 0.03[ 0/ 1
i NFDILEY 1.0 K 0.01 [< 0.01 [< 0010 ~ 1[K 0.01 [< 0.01 [< 001 0 7 1| 0.01 [< 0.01 [< 0010 7 1[K 0.01 [< 0.01 [< 001 0 7 1k 0.01 [< 0.01 [< 0010 7 1[K 0.01 [< 0.01 001 0 1
FRUT L FOE [200 0 10.9 10.9 1090 7 1 11.3 11.3 11310 7 1 10.1 10.1 1010 7 1 10.5 10.5 105] 0 7 1 7.0 7.0 7.0l 0 7 1 10.5 10.5 105 0/ 1
< K OZFDOEY 1005 n < 0.005 < 0.005 < 0.005] 0 1< 0.005 < 0.005[< 0005 0 ~ 1]<  0.005]<  0.005]<  0.005] 0 1 0.008 0.008 0.008] 0 1< 0.005 < 0.005[< 0.005] 0 1]< _ 0.005][<_ 0.005 0.005| 0 1
kA4 200 6.9 6.1 63| 0 /12 6.7 5.7 6.1 0 7 8 6.7 6.1 630 7 9 5.7 5.2 56| 0 712 14.9 12.8 13.71 0 712 6.2 5.8 6.0 0 12
T b 7 e W EGEE) [300 0 109 109 1090 7 1 124 124 1241 0 7 1 112 112 112l 0 7 1 114 114 1140 71 123 123 123 0 7 1 111 111 11l o/ 1
ZEAE TR ) 500 161 161 61| 0 / 1 180 180 180 0 /1 180 180 180 0 7 1 174 174 174l 0 /1 218 218 2181 0 / 1 178 178 178] 0/ 1
[aA A S PRl 0.2 [ < 0.02 [< 0.02 < 0.02] 0 ~ 1] 0.02 [< 0.02 [< 0.02] 0 / 1K 0.02 [< 0.02 [< 0.02[ 0 ~ 1)K 0.02 [< 0.02 [< 0.02] 0 / 1k 0.02 [< 0.02 [< 0.02f 0 ~ 1) 0.02 [< 0.02 0.02] 0/ 1
VA RIS 0.00001 _»_]<0.000001 [<0.000001 [<0.000001 [ 0~ 1 ]<0.000001 [<0.000001 [<0.000001 | 0  1]<0.000001 [<0.000001 [<0.000001 [ 0 ~ 1 [<0.000001 [<0.000001 [<0.000001 | 0 ~ 1]<0.000001 [<0.000001 [<0.000001 | 0 ~ 1]<0.000001 [<0.000001 K 0.000001 ]| 0/ 1
2—AF AR FA—MIB)_0.00001 1 ]<0.000001 [<0.000001 [<0.000001 [ 0 1 ]<0.000001 [<0.000001 [<0.000001 | 0 ~ 1]<0.000001 [<0.000001 [<0.000001 [ 0 1 ]<0.000001 [<0.000001 [<0.000001 | 0 ~ 1]<0.000001 [<0.000001 [<0.000001 | 0 1 [<0.000001 [<0.000001 K 0.000001 | 0/ 1
FEA A Sy A 0.02 < 0.002 < 0.002 < 0.002] 0 1< 0.002 [< 0.002[< 00020 ~ 1)< 0.002]<  0.002]<  0.002] 0~ 1]< 0.002 < 0.002[< 00020 7 1]<  0.002]<  0.002]<  0.002] 0 1]< _0.002 [<  0.002 0.002] 0/ 1
7x/—/)VHH 0.005_# <__0.0005 [<_0.0005 [<_0.0005] 0  1]< 0.0005 < 0.0005 [<  0.0005 | 0~ 1]<_0.0005 < 0.0005 [<_ 0.0005] 0 ~ 1]< 0.0005 < 0.0005 [<  0.0005 ] 0 ~ 1[< 0.0005 [<_ 0.0005 < 0.0005] 0 ~ 1]< 0.0005 < 0.0005 K 0.00056] 0 1
A EERRFZETOODR)[3 I < 0.2 [< 0.2 [< 020 712 0.2 [< 0.2 02] 0 ~ 8]« 0.2 [< 0.2 [< 02l 0 7 9 0.2 [< 0.2 02] 0 12K 0.2 [< 0.2 [< 02l 0 12K 0.2 [< 0.2 K 02 0 12
pH{E 5.8~8.6 7.1 6.9 7.0 0 712 7.1 6.9 7.0 0 / 8 7.1 6.9 7.0l 0 /9 7.1 6.9 7.0 0 712 7.1 7.0 7.0 0 712 7.1 6.9 7.0 0 12
R TRk Busel| HEEel| HBEEAl) 0 12| BEZRLI OBERL] OBERLI 0 8] EEAl| BEEARLl OBEALIO0 L 9] EEL| EEAL] EEAL| 0 S12)] BEARL OBEAL] OBEALI 0 S12] BEEAL| BEARL] O BEARLL 012
5 ” TR LRl BEZRL| 0 12 LRl BERL LEZRLl 0/ 8] FEel LRl BEZRLI 0 9 LERL|  BEZRL LEaLl 0 12| WEAL[ BEAL daeL] 0 12 HEEial LEZelL | EERL] 0 12
o 5% < 0.5 [< 0.5 < 05| 0 712 1.8 [< 0.5 1.2l 0 / 8K 0.5 < 0.5 < 050 7 9K 0.5 < 0.5 |< 05/ 0 712K 0.5 |< 0.5 [< 05/ 0 712 0.8 [< 0.5 0.5] 0 12
W 2% < 0.1 [< 0.1 < 0.1l 0 /12K 0.1 < 0.1 < 0.1 0 ~ 8]« 0.1 < 0.1 < 0.1l 0 / 9K 0.1 < 0.1]< 0.1] 0 712K 0.1]< 0.1 [< 0.1 0 /12K 0.1 [< 0.1 K 0.1] 0 12
R IER - 0 0 0l o 712 0 0 0l o 8 0 0 ofo 9 0 0 0l o0 712 0 0 0ofo 712 0 0 ol 0o/ 0
EJE S AN L2000 B BT 0 0 0lo 7 0 7 7 710 /1 0 0 0lo 7 0 0 0 0lo 7 0 0 0 0lo /1 45 45 45 0 1
JVTHARI T L fE#/101 0 0 0l 0 7 1 0 0 0] 0 7 1 0 0 0l 0 7 1 0 0 0] 0 7 1 0 0 0l o0 /1 0/ 0
CTINTT /101 0 0 olo 7 1 0 0 0lo 7 1 0 0 olo 71 0 0 0olo 7 1 0 0 olo 71 0/ 0
BERmEE mS/m 27.3 26.6 27.0 12 30.2 29.0 29.4 8 27.5 27.1 27.3 9 28.6 26.8 27.8 12 28.3 27.8 28.1 12 28.0 27.3 27.8 12
K °C 19.6 19.0 19.3 12 19.7 18.9 19.3 3 19.3 18.0 18.5 9 19.7 18.9 19.3 12 17.4 16.7 17.1 12 20.0 18.8 19.5 12
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K B 5 1l K35 WK 2Rk (k) RS P il K 35 (k)
A EH KB RTE | NE | B/ME | FOIE B | mANE | s/ME | CERE o1 2 | mNE | m/ME | CFHIE EIRE:S
K OB

— Al B 100# /ml 0 0 ol o 712 0 0 0l 0o 712 0 0 ol 0 712
N P T N ARl 0 12 Ak Ak ARl 0 12 AR H N AR 0 12
HRIT LR NZDEA [0.003 mg/1 [< 0.0003 [< 0.0003 [< 0.0003] 0 ~ 1] 0.0003 [< 0.0003 [< 0.0003] 0 ~ 1]< 0.0003[< 0.0003]< 0.0003] 0 1
IKER N O DAL E W 0.0005 » < 0.00005 [< 0.00005 [< 0.00005[ 0  1]< 0.00005 [< 0.00005 [< 0.00005[ 0 ~ 1< 0.00005[< 0.00005 [< 0.00005[ 0 1
HL R OZEDILEY (0.0 » < 0.001[< o0.001[< 00010 1]< o0.001]< o0.001]< 0.001] 0  1]<  0.001]<  0.001]<  0.0001] 0 1
OO EY) 0.0l < 0.001]< 0.001]< 0.001f 0 7 1] 0.001]< 0.001]< o0.000] 0 7 1] 0.001]< 0.001]< o0.001] 0 7 1
LE L DL EWY 0.01 < 0.001[< o0.001[< o0001] 0 1]< o0.001]< o0.001]< 0.001] 0  1]<  0.001]<  0.001]<  0.0001] 0 1
AN Y 0.02 1 < 0.002 < 0.002[< 0002 0 7 af< o0.002]<  0.002]< 0.002] 0  a]<  0.002]<  0.002]<  0.002] 0 4
MR HEZE R 0.04 1 < 0004 <  0.004[< 0004] 0  1]<  0.004]<  0.004]< 0.004] 0 7 1]<  0.004 <  0.004]<  0.004] 0 1
ST ANAF L % Otk 7 [0.01 0 < 0.001[< o0.001[< 00010 af< o0.001]< o0.001[< o0.000] 0  al< 0.001]<  0.000]< 0.000] 0 7 4
HEAREZE B N OV HLAEERREZE A 10 I 4.60 3.94 4311 0 7 12 5.03 4.69 490 0 12 6.78 1.51 4461 0 12
P J Aol ia=x/ I I < 0.05 |< 0.05 |< 0.05s] 0 / 1[ 0.05 |< 0.05 |< 005 0 / 1| 0.05 [< 0.05 [< 0.05[ 0 / 1
FUZMOZOEY  [1o » < 0.02 [< 0.02 [< 0.02] 0 / 1[K 0.02 [< 0.02 [< 0.02] 0 / 1[K 0.02 < 0.02 [< 0.02] 0 / 1
ERIAES 0.002 < 0.0002 [<  0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0 1
1,4- A% 0.05 < 0.005[< 0.005[< 0005] 0 7 1]< 0.005]< 0.005[< 0.006] 0  1]< 0.005[<  0.0065[< 0.006] 0 7 1
vA-1,2-V" rauxzFly g IR

NV A-1,2- JapTFly 0.04 1 < 0.0002 [<0.0002 [<  0.0002] 0  1]< 0.0002 < 0.0002 < 0.0002] 0 1 0.0004 0.0004 0.0004| 0 ~ 1
A=Y Y% 0.02 1 < 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0 1
FroZunTF L 0.01 » 0.0012 0.0009 0.0010 [ 0 4 0.0029 0.0024 0.0026 | 0 4 0.0008 0.0003 0.0006 | 0 4
KN)ZooxFl 0.01 ” 0.0003 0.0003 0.0003[ 0 4 0.0005 0.0004 0.0005[ 0 ~ 4 0.0006 [<  0.0002 0.0005| 0 4
P 0.01 < 0.0002 [<0.0002 [<  0.0002] 0  1]< 0.0002 [<  0.0002 ]< 0.0002] 0  1]< 0.0002 [< 0.0002 [< 0.0002] 0 1
R 0.6 1 < 0.06 |< 0.06 |< 0.06] 0 ~ 4 0.06 |< 0.06 |< 0.06] 0 / 4 0.06 [< 0.06 [< 0.06[ 0 ~ 4
7o g 0.02 ” <0002 [< 0.002[< 0.002] 0 7 4af<  0.002]<  0.002]<  0.002] 0  4]<  0.002 < 0.002 < 0.002] 0 4
IRl 0.06 0.002 [<  0.001 0.002] 0 / 4 0.002 [<  0.001 0.002| 0 / 4 0.002 [<  0.001 0.002] 0 / 4
T uu iR 0.03 1 <0003 < 0.003[<  0.003] 0 4]<  0.003]<  0.003]<  0.003] 0  4]<  0.003]<  0.003]<  0.003] 0 4
VT AT anaRrS 0.1 1 < 0.001[< o0.001[< 0001 0 4]< o0.001]< o0.001]< 0.001] 0  4]<  0.001]<  0.001]<  0.0001] 0 / 4
e 0.01 ” < 0.001[< 0.001]< 0.001] 0 4 0.001 [< 0.001]< o0.001] 0 ~ 4]< 0.001]< 0.001[< 0.001] 0 4
FERU AN AR 0.1 ” 0.002 [<  0.001 0.002] 0 / 4 0.002 [<  0.001 0.002| 0 / 4 0.004 [<  0.001 0.002] 0 / 4
N oo g 0.03 » < 0.003]<  0.003]<  0.003] 0  4]<  0.003]<  0.003[<  0.003] 0  4]<  0.003[<  0.003[<  0.003] 0 4
TRV IOanRAR 0.03 < 0.001[<  0.001]<  0001] 0 ~ 4]<  0.001 [<  0.001[< 0.001] 0 4 0.002 [<  0.001 0.001| 0 / 4
7 OEIR )L 0.09 ” < 0.001[< 0.001[< 0001 0 4fc 0.001]<  0.001]<  0.000] 0  4]<  0.001]<  0.001]<  0.001] 0 4
BILLT VT ER 0.08 7 < 0.008[< 0.008[< 0008 0  4af]< 0.008]< 0.008]< 0.008] 0  4]<  0.008 < 0.008]< 0.008] 0 / 4
Hien M DL EY) 1.0 < 0.01 |< 0.01 |< 001 0 1K 0.01 |< 0.01 |< 0.0l 0 / 1| 0.01 [< 0.01 |< 0.0l 0 / 1
TAI=U LK OZOEWm[02 1 < 0.02 [< 0.02 |< 0.02] 0 / 1] 0.02 |< 0.02 |< 0.02] 0 / 1[ 0.02 [< 0.02 [< 0.02f 0 /1
M XZDILEY) 03 I < 0.03 [< 0.03 [< 0.03] 0 7 1 0.03 0.03 0.03] 0 / 1[K 0.03 [< 0.03 [< 0.03] 0 7 1
i N2 DILEY 1.0 » < 0.01 [< 0.01 [< 0.0l [ 0 7 1[K 0.01 [< 0.01 [< 0.0l 0 ~ 1[K 0.01 [< 0.01 [< 0.01] 0 / 1
TR L L ZEDLEY 200 » 8.6 8.6 86|l 0 7 1 7.3 7.3 7310 7 1 8.0 8.0 80|l 0 7 1
<~ K OZFOEY 10.05 0 < 0.005[< 0.005[< 0005 0 7 1]< 0.005]< 0.005]< 0.006] 0  1]<  0.005]<  0.005]<  0.006] 0 1
b A4 200 U 7.6 7.2 7410 12 8.4 7.5 781 0 /12 13.7 7.3 11.3] 0 /12
HIVL T e 7 3 N [300 108 100 1051 0~ 4 103 101 103] 0 4 136 84 1200 0 7 4
TR 500 7 178 160 170 0o ~ 4 184 160 174 0 / 4 230 134 197 0 7 4
A A S s Al 0.2 T K 0.02 [< 0.02 |< 0.02] 0 / 1[ 0.02 |< 0.02 |< 0.02] 0 / 1]« 0.02 [< 0.02 [< 0.02f 0 /1
VA 0.00001 » < 0.000001 [< 0.000001 [< 0.000001 | 0 ~ 1]<0.000001 [<0.000001 [<0.000001 [ 0 ~ 1]<0.000001 [<0.000001 [< 0.000001 ] 0 1
o— AF LAV R FH—AMIB) [0.00001 7 < 0.000001 [< 0.000001 [< 0.000001 [ 0 1] 0.000001 [< 0.000001 [< 0.000001 | 0 1< 0.000001 [< 0.000001 |[< 0.000001] 0 / 1
FEAA L S s TEA 0.02 1 < 0.002 < 0.002]<  0.002] 0 1< 0.002[< 0.002]<  0.002] 0  1]<  0.002[< 0.002[<  0.002] 0 1
7 x ) —)UFA 0.005 < 0.0005 [<  0.0005 [<  0.0005] 0  1]< 0.0005 <  0.0005 < 0.0005] 0  1]< 0.0005[<  0.0005 < 0.0005] 0 1
AHE (AR ETOODE)[3 < 0.2 [< 0.2 [< 0.2 0 12K 0.2 [< 0.2 [< 0.2l 0 712 0.3 < 0.2 0.2l 0 12
pHAE 5.8~8.6 7.1 6.9 7.0 0 /12 7.0 6.9 7.0]1 0 12 7.2 6.9 7.01 0 12
ES TR Bl BEAaL] BEsL] 0o 12 BEEARL] BEAL] BEal] 0o 12| BEEAL] BEsL] BEaLl o 12
A U Fapl | BEaLl BeEal] 0o 12 BEAaLl OBEAU] BEiL]l o 12 Byl BEsl] BEaLl o 12
o 5 i < 0.5 < 0.5 < 05 0 12 0.8 [< 0.5 0510 12K 0.5 [< 0.5 [< 050 12
) 2% < 0.1 < 0.1 [< 0.1] 0 / 12 0.2 |< 0.1 0.1 0 / 12K 0.1 < 0.1 [< 0.1] 0 / 12
S I — 0 0 0ol o~ 0 0 0 olo o 0 0 olo 0
?ﬁ@%‘%f—fﬂ} Il 2000 fHEL F (8758 0 0 ol o ~ 3 12 0 410 / 3 0 0 ol o~ 3
B R SR 0.1mg/0LL 0.4 0.3 03] 0 12 0.4 0.3 03] 0 /12 0.4 0.3 03] 0 12
ERURE R mS/m 26.2 24.6 25.5 12 24.9 23.9 24.5 12 30.6 19.0 26.3 12
IK I C 19.5 17.0 18.1 12 19.3 14.5 17.5 12 18.8 11.0 16.2 12
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cRSEE Kk B R BRSO R (M K & g G

i K 1 i fk R _ (#HK) _ JERR (oK) SEE S (oK) jtf%?: (#7K) _ *H*ﬁﬁiﬁ% (7K)

_ fok/r B B ARk - TR _ JEER - 8T A - DU A« A _ NEB 5 P A - SRR AR B - AR B FEL - SISHE MR NIV VRN S ]

A H g%ﬁ%{/ﬁ BONE | B/ME | TR W 2 | mNE | s/E | CFHIE W 2L | mONE | BB | CFHIR W B | mONIE | /B | CFHIE W 2 | mNE | /B | CFHIE EIE=R
NEEAL

— A 1001 /ml 0 0 ol 0o 712 0 0 ol 0 12 0 0 ol o 712 0 0 0l 0 /12 1 0 ol 0 12
PN S TR N s AR 0 12 N s N A 0 12 N AR H Tl 0 12 N TR TR 0 7 12 N AR H A 0 12
HRIT L RZFEDILEW0.003 me/1 < 0.0003 [<  0.0003 [< 0.0003] 0 ~ 1]< 0.0003[< 0.0003[< 0.0003] 0 ~ 1]< 0.0003 [< 0.0003 [< 0.0003] 0 ~ 1]< 0.0003[< 0.0003[< 0.0003] 0  1]< 0.0003 [< 0.0003[< 0.0003] 0 / 1
IKEE K DL ED) 0.0005 # < 0.00005 [< 0.00005 [< 0.00005] 0 ~ 1]< 0.00005 [< 0.00005 [< 0.00005 ] 0  1]< 0.00005 [< 0.00005 [< 0.00005] 0 ~ 1]< 0.00005 [< 0.00005 [< 0.00005 ] 0  1]< 0.00005 [< 0.00005 [< 0.00005] 0 1
TLUROZEDOILEY 001 < 0.001 [< o0.001]< 0.000] 0 ~ 1]< 0.001]< 0.001]< o0001] 0 1K o0.001[< o0.001[< o0.001] 0 1]< o0.001]< o0001[< 00010 1K o0.001[< o0.001]< 0.001] 0 1
Sh M O DILEW) 0.01 < 0.001 [< o0.001]< 0.000] 0~ 1]< 0.000]< o0.001]< 00010 1K o0.001f< o0.001]< o0.001] 0 1]< o0.001]< o0001[< 00010 1K o0.001[< o0.001]< o0.001] 0 1
R M OZDILEY) 0.01 < 0.000 [< o0.001]< 0.000] 0 ~ 1]< 0.000]< 0.001]< o0001] 0 1K o0.001[< o0.001]< o0.001] 0 1]< o0.001]< o0001[< 00010 1K o0.001[< o0.001]< o0.001] 0 1
N IA=EN A 0.02 1 < 0.002 [< 0.002[< 0.002] 0  4a]< 0.002]<  0.002[< 0.002] 0  4]< 0.002]< 0.002]< 0.002] 0 ~ 4]< 0.002]< 0.002[< 0.002] 0 4] 0.002[< 0.002]< 0.002] 0 4
AR REE R 0.04 1 < 0.004 < 0.004]< 0.004] 0  1]< 0.004]< 0.004]< 0004] 0  1J< 0.004]< 0.004[< 0.004] 0  1]< 0.004]< 0.004[< 0004] 0 1< 0.004[< 0.004]< 0.004] 0 1
U AL AA L K O b 0.01 » < 0.001 [< o0.001[< 0.000] 0 ~ 4a]< o0.000]< 0.001[< 0001 0 4]< o0.001[< o0.001]< o0.001] 0 4]< o0.001]< o0.001[< 0001 0 4] o0.001[< 0.001]< o0.001] 0 7 4
B e ZE 5 % O AR iEZE % 10 ] 4.85 1.18 4511 0 /12 4.78 4.18 44510 712 4.67 4.04 435 0 12 4.64 1.07 43410 /12 1.77 2.19 3.60] 0 12
TR OEFOILEY 08 < 0.05 [< 0.05 [< 005 0 / 1K 0.05 [< 0.05 [< 0.05[ 0 / 1] 0.05 [< 0.05 [< 0.05] 0 / 1] 0.05 [< 0.05 [< 0.05[ 0 / 1K 0.05 [< 0.05 [< 0.06] 0 / 1
FURERZEOEY (1.0 < 0.02 [< 0.02 [< 0,02 0 / 1K 0.02 [« 0.02 [< 0.02[ 0 / 1] 0.02 [< 0.02 [< 0.02 0 / 1] 0.02 [< 0.02 [< 0.02[ 0 / 1K 0.02 [< 0.02 [< 0.02] 0 / 1
NERAES 0.002 # < 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0  1]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0  1]< 0.0002 [< 0.0002 < 0.0002] 0 1
1,4-A %Y 0.05 < 0.005 [<  0.005 < 0.0056] 0 1< 0.005]<  0.005]< 0005 0 7 1)< 0.005[< 0.005]< 0.0056] 0 7 1] 0.005]<  0.005[< 00050 7 1l 0.005[< 0.005]< 0.005] 0 7 1
Y A-1,2=aaxFLy KO
Moy A=1.2-"yaprFLy 0.04 1 < 0.0002 [< 0.0002 [< 0.0002] 0  1]< 0.0002 [< 0.0002 < 0.0002] 0 ~ 1)< 0.0002 < 0.0002 [< 0.0002 | 0 1] 0.0002 [< 0.0002 [< 0.0002] 0  1]< 0.0002 |< 0.0002 < 0.0002] 0 / 1
vranaRrR 0.02 < 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 < 0.0002 < 0.0002] 0  1]< 0.0002 [< 0.0002 [< 0.0002] 0 1[I 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 < 0.0002] 0 7 1
Fror7aaxTF L 0.01 0.0013 0.0010 0.0011] 0 / 4 0.0013 0.0009 0.0011] 0 / 4 0.0012 0.0009 0.0010] 0 ~ 4 0.0013 0.0009 0.0011] 0 / 4 0.0020 0.0004 0.0013] 0 / 4
N Zoox—F1 0.01 0.0004 0.0003 0.0004] 0 / 4 0.0004 0.0002 0.0003] 0 / 4 0.0003 [<  0.0002 0.0003] 0 / 4 0.0004 0.0003 0.0003] 0 / 4 0.0004 [<  0.0002 0.0003] 0 ~ 4
P 0.01 < 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 < 0.0002 < 0.0002] 0  1]< 0.0002 [< 0.0002 [< 0.0002] 0  1J 0.0002 [< 0.0002 [< 0.0002] 0  1]< 0.0002 [< 0.0002 < 0.0002] 0 7 1
e 0.6 < 0.06 [< 0.06 [< 0.06[ 0 / 4K 0.06 [< 0.06 [< 0.06[ 0 /7 4]« 0.06 [< 0.06 [< 0.06[ 0 / 4] 0.06 [< 0.06 [< 0.06[ 0 / 4K 0.06 [< 0.06 [< 0.06] 0 ~ 4
Jaa g 0.02 < 0.002 [< 0.002]< 0.002] 0 af< 0.002]< 0.002]< 0.002] 0  4al< 0.002 < 0.002]<  0.002] 0 7 4k 0.002[<  0.002]< 0.002] 0 7 4a]< 0.002]<  0.002]<  0.002] 0 7 4
ookl 0.06 0.001 [<  0.001 0.001 0 / 4 0.001 [<  0.001 0.001] 0 / 4 0.002 [<  0.001 0.001l 0 / 4 0.002 [<  0.001 0.001] 0 / 4 0.002 0.002 0.002] 0 / 4
ool 0.03 < 0.003 [ 0.003 < 0.003] 0 4]< 0.003]<  0.003]<  0.003] 0  4]<  0.003[<  0.003]<  0.003] 0 4] 0.003]<  0.003[<  0.003] 0 4] 0.003[<  0.003]<  0.003] 0 / 4
7 aEyauii 0.1 < 0.001 [« o0.001]< 0.001] 0 4af< o0.001]< 0.000]< 0.000] 0  4]< o0.001]< 0.000]< 0001 0o 4k o0.001]< 0.001]< 0.001] 0 4af< o0.001]< 0.001]< 0.000] 0 7 4
e 0.01 < 0.001 [« o0.001]< 0.001] 0 4af< o0.001]< 0.000]< 0.000] 0  4]< o0.001]< 0.000]< 0001 0o 4k o0.001]< 0.001]< o0.001] 0 4af< o0.001[< 0.001]< 0.000] 0 7 4
MR T AS 0.1 0.001 [<  0.001 0.001 0 / 4 0.001 [<  0.001 0.001] 0 / 4 0.002 [<  0.001 0.001l 0 / 4 0.002 [<  0.001 0.001] 0 / 4 0.004 0.002 0.003[ 0 / 4
N oo EERE 0.03 # J< 0.003[< 0.003[< 0003 0 7 4]< 0.003]< 0.003]< 0.003] 0  4]< 0.003]<  0.003[<  0.003] 0 4 0.003]<  0.003]< 0.003] 0  4]< 0.003[<  0.003[<  0.003] 0 7 4
TJOuEyyauirH 0.03 < 0.001 [« o0.001]< 0.001] 0 4a]< o0.001]< o0.001]< 0.000] 0  4al< o0.001 < 0.000 < 0.001] 0 7 4 0.001]< o0.001]< 0.001] 0 7 4 0.002 [<  0.001 0.000] 0 / 4
T OERIL L 0.09 < 0.001[< o0.001]< 0.001] 0 4af< o0.001]< 0.001]< 0.000] 0  4l< o0.001]< 0.000]< 00010 4k o0.001[< 0.001]< 0.001] 0 4af< o0.001]< 0.001]< 0.000] 0 7 4
FILLT LT ER 0.08 < 0.008 [<  0.008 < 0.008] 0 4]<  0.008]<  0.008]<  0.008] 0 7 4]< 0.008[<  0.008]< 0.008] 0 4] 0.008]< 0.008[< 0.008] 0 7 4] 0.008[< 0.008]< 0.008] 0 / 4
R 2D EY 1.0 < 0.01 [< 0.01 [< 0010 7 1K 0.01 [< 0.01 [< 0.0t 0o 7 1] 0.01 < 0.01 [< 0.0t 0o / 1] 0.01 [< 0.01 [< 0010 1K 0.01 [< 0.01 [< 0.0t o 7 1
TAI=U LR OZDILEW|0.2 < 0.02 [< 0.02 [< 0,02 0 / 1K 0.02 [< 0.02 < 0.02 0 / 1] 0.02 < 0.02 [< 0.02 0 / 1] 0.02 [< 0.02 [< 0,02 0 / 1K 0.02 [< 0.02 [< 0.02[ 0 /1
B YZFDILEY 0.3 < 0.03 [< 0.03 [< 0.03[ 0 / 1K 0.03 < 0.03 [< 0.03[ 0 / 1] 0.03 < 0.03 < 0.03[ 0 / 1] 0.03 [< 0.03 [< 0.03[ 0 / 1K 0.03 [< 0.03 [< 0.03] 0 /1
i M O DILEW 1.0 < 0.01 [< 0.01 [< 0010 7 1K 0.01 [< 0.01 [< 0.0t 0o 7 1] 0.01 < 0.01 [< 0.0t 0o / 1] 0.01 [< 0.01 [< 0010 1K 0.01 [< 0.01 [< 0.0t o~ 1
FRT L ZEDLEY (200 » 8.8 8.8 8810 7 1 8.8 8.8 88 0 7 1 8.7 8.7 87l 0 1 9.1 9.1 91l 0 /1 8.3 8.3 830 7 1
< H R OFOLEY 1005 » < 0.005 [< 0.005 < 0.006] 0 1< 0.005]<  0.005]< 0005 0 7 1] 0.005[<  0.005]< 0.0056] 0 1] 0.005]<  0.005[< 00050 7 1l 0.005[<  0.005]< 0.005] 0 7 1
Wik A4 200 ” 7.8 7.1 7510 /12 7.7 7.0 7410 /12 7.6 7.2 7410 /12 7.6 7.2 7410 /12 9.9 7.1 8.0 0 12
H LT b7 R NEGEE) [300 0 112 106 110l 0 ~ 4 112 106 110 0 ~ 4 111 103 108] 0 4 110 105 108] 0 7~ 4 110 85 1000~ 4
IR 500 ) 193 170 1810 7 4 187 163 1751 0 7 4 176 159 1681 0 4 177 161 1711 0 / 4 179 132 161l 0 7 4
BaA A Fm s Al 0.2 K 0.02 [< 0.02 [< 0.02] 0 / 1k 0.02 [< 0.02 [< 002l 0 / 1k 0.02 [< 0.02 [« 0.02] 0 / 1k 0.02 [< 0.02 [< 0.02] 0 / 1k 0.02 [< 0.02 [< 0.02{ 0 ~ 1
Jaxt A 0.00001 7 ]<0.000001 {<0.000001 [<0.000001 | 0 ~ 1]<0.000001 [<0.000001 [<0.000001 | 0  1§<0.000001 [<0.000001 [<0.000001] 0  1]<0.000001 |<0.000001 [<0.000001 ] 0 1 ]<0.000001 [<0.000001 [<0.000001] 0 / 1
2— AFNAVRLFA—AMIB) 10.00001 7 §<0.000001 [<0.000001 [<0.000001 | 0  1]<0.000001 [<0.000001 [<0.000001 | 0  1§<0.000001 [<0.000001 [<0.000001] 0  1]<0.000001 |<0.000001 [<0.000001 | 0  1]<0.000001 [<0.000001 [<0.000001] 0 / 1
FEAA S i A 0.02 <0.002 [ 0.002 < 0.002] 0 1< 0.002 < 0.002 1< 0.002] 0 2 1) 0.002 < 0.002]< 0.002] 0 1] 0.002]< 0.002 < 00020 2 1k 0.002[<  0.002]<  0.002] 0 7 1
7 x /) — )L 0.005 » < 0.0005 [< 0.0005 [< 0.0005] 0  1]< 0.0005 < 0.0005 [<  0.0005[ 0  1]< 0.0005 [<  0.0005[< 0.0005] 0 1)< 0.0005 < 0.0005 [< 0.0005] 0 1 0.0005[<  0.0005 < 0.0005] 0 7 1
LR EERRETOODE) |3 1 < 0.2 |< 0.2 < 0.2 0 12K 0.2 < 0.2 |< 0.2 0 12K 0.2 |< 0.2 |< 0.2l 0 12K 0.2 |< 0.2 [< 0.2 0 712 0.3 [< 0.2 0.2 0 712
pHAE 5.8~8.6 7.0 6.9 7.0l 0 712 7.0 6.9 7.0 0 /12 7.0 6.9 7.0l 0 712 7.1 6.9 7.0 0 712 7.2 6.9 7.0 0 /12
IR RGN N Bl BEALL CRELRLI 0 12| BEEARL| O EBEERL] OBEARLI 0 12| BEARL] BEARL] O BEARLI 0 12 BEAeL] BEEAL] O BEALLI 0 12| EEAL| O EBEEARL| O BEARLL 0 12
A / B | BEeal] Bl o 12 BEEAL|] BEEAL] BEARLl o0 12 BEAL] BEARL] BERL 0 12 BEEaeu] BEeaL] BEEAaLl o 12| BEEAeL|] BEEARL|] BEAL] o0 12
£ 5 < 0.5 [< 0.5 < 05] 0 /12 0.5 < 0.5 [< 05/ 0 12K 0.5 [< 0.5 |< 050 0 712K 0.5 |< 0.5 [« 05| 0 12K 0.5 [« 0.5 < 05 0 712
)i 2pF < 0.1 [« 0.1 < 0.1] 0 12 0.1 < 0.1 < 0.1 0 /12K 0.1 < 0.1 < 0.1l 0 712K 0.1 < 0.1 < 0.1] 0 12K 0.1 < 0.1 [« 0.1 0 712
e E N — 0./ 0 0./ 0 0./ 0 0./ 0 0/ 1
1 i, o s Al 1mlsB<2000 5L () 170 16 7210 / 3 16 4 1Hjio 7 3 3 0 110 7 3 10 1 510/ 3 5 2 3l o 7 3
VB R R 0.1mg/0LL E 0.3 0.2 03] 0 12 0.3 0.3 03] 0 12 0.3 0.3 03[ 0 12 0.3 0.3 03] 0 12 0.4 0.2 03] 0 712
Ay mS/m 27.2 25.7 26.5 12 27.1 26.0 26.5 12 26.5 25.3 25.9 12 26.7 25.6 26.1 12 26.0 20.6 23.6 12
JKIE. C 24.0 13.2 19.1 12 26.0 12.5 19.1 12 26.1 15.8 18.9 12 23.2 14.8 18.6 12 21.7 11.5 17.3 12
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BTN KB O #H B OHE X
(JFK) KBS B H AR ETH H 1218 A
75 1K o5 27K P 5 3KIR VT 5 5 H VR 75 H Ly m ks s
REHH HARE S OV AT 10 A 10 A 10 A 10 A 10 A 10
13H 13H 13H 13H 13H 13H
TVFE B O DILE Y 0.02mg/1LL F|< 0.002)< 0.002f< 0.002)< 0.002f< 0.002f< 0.002
5L R DA 0.002meg/ILL FCE)l<  0.0002)<  0.00020<  0.0002)<  0.0002]<  0.0002)<  0.0002
= VR DAY 0.02mg/1LL F|< 0.002)< 0.002f< 0.002)< 0.002f< 0.002f< 0.002
1.2-3 yunzhy 0.004mg/ILLFJ<  0.0004)<  0.0004]<  0.0004)<  0.0004]<  0.0004]<  0.0004
MLy 0.4mg/12L F|< 0.04J< 0.04J< 0.04J< 0.04J< 0.04J< 0.04
75 Y (2-TF NnF Y )) 0.08mg/1L4 F|< 0.008|< 0.008|< 0.008)< 0.008|< 0.008|< 0.008
Ve 30 4 20mg/ILL T 17 16 20 19 11 29
1,1,1-F)yonzsy 0.3mg/121 F|< 0.03|< 0.03|< 0.03|< 0.03|< 0.03J< 0.03
AFN—=T FVI—F )V 0.02mg/12 F|< 0.002f< 0.002f< 0.002)< 0.002f< 0.002f< 0.002
) GBI T A 3mg/1LA F 0.7 0.8 0.9 0.5 0.4 0.3
Ve A A= Al B 2,000L4 15 14 4 3 0 27
| 1-YrapTaly 0. 1mg/12) F|< 0.01]< 0.01]< 0.01]< 0.01]< 0.01[< 0.01
K C 16.7 17.5 17.3 19.6 17.2 20.0

X UL T VA at g2 ZOVIRTR(PROS) kL OV T LAt 7 2 U FE(PEFOA) D /K sl R G SR 1 X RIHE,




SAEE Kk " W B R
({5 K) KB EE B AR ETE B 168 H
o 1id K 5 A bl A T B e L R e e L e e B e e P e e s
A H AR S OVHLAL 10 A 10 A 10 A 10 A 10 A 10 A 10 10 A
14H 14H 14H 14 H 14H 14H 14 H 14H

ToFE R OEDALE 0.02mg/124 F|K 0.002|< 0.002|< 0.002|< 0.002|< 0.002|< 0.002|< 0.002|< 0.002
752 M OFEDILE Y 0.002me/ILA FCEEDIC  0.0002]<  0.0002J<  0.0002f<  0.0002]<  0.0002}<  0.0002f<  0.0002)<  0.0002
=)V OF DALE W) 0.02mg/124 F|K 0.002< 0.002|< 0.002|< 0.002|< 0.002|< 0.002|< 0.002< 0.002
1,2-3" yunzhy 0.004mg/ILAF)<  0.0004f<  0.0004]<  0.0004]<  0.0004)<  0.0004]<  0.0004]<  0.0004f]<  0.0004
hL oy 0.4mg/1LL F|< 0.04|< 0.04|< 0.04< 0.04[< 0.04< 0.04|< 0.04< 0.04
75 VY (O—TFNF Y ))) 0.08mg/124 F[K 0.008|< 0.008|< 0.008|< 0.008|< 0.008|< 0.008|< 0.008|< 0.008
Va7 =)y 0.01mg/1LL F(EE) K 0.001|< 0.001|< 0.001|< 0.001|< 0.001|< 0.001|< 0.001|< 0.001
Yk a7 —n 0.02mg/1LA F (&) K 0.002|< 0.002|< 0.002|< 0.002|< 0.002|< 0.002|< 0.002|< 0.002
e B R 20mg/1LL F 13 15 17 15 14 14 15 14
1,1,1-}F)7anxyy 0.3mg/1LL F|< 0.03)< 0.03|< 0.03|< 0.03|< 0.03|< 0.03|< 0.03|< 0.03
AFN—t=7 F I T—T )V 0.02mg/124 F|K 0.002|< 0.002]< 0.002]< 0.002|< 0.002]< 0.002]< 0.002]< 0.002
R Gl 1 ) W T 1) 3mg/1LL T 0.6 0.7 0.5 0.6 0.4 0.3|< 0.3 0.7
SR (TON) SEELLFIK 1 K 1< 1< 1|< 1< 1K 1|< 1

&M ~IFRELL EEL,
G )T HEED) W I0IZES1T % -1.2 ~1.2 -1.1 -1.3 ~1.2 ~1.2 ~1.2 ~1.2
TEE AR M 2,000L4 F 0 2 | 10 19 14 0 8
1,1-3 yanzfLy 0.1mg/1LL F|< 0.01|< 0.01|< 0.01|< 0.01|< 0.01|< 0.01|< 0.01|< 0.01
BRI E 3R 0.1mg/I1LA F 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3
KR C 18.7 18.3 18.2 20.7 21.7 23.0 19.7 20.9

X AL A ag R ZLRCEEPFOS) N NIV T L Fa A 72 BE(PFOA) D K E 2 Bk B LRI,




RN /S R T
VT VAt g B AR ER(PEOS) ke O L7 VAt 7 2 Fg(PEOA) KB B E AR E
5K T 7H 7H 10H 10H llﬂ 11H 1H 1H
12H 13H 13H 14 H 16 H 17H 18H 19H
(JFUK)
5 1KIR 0.000037
527K 0.000047
537K 0.000022 0.000100 0.000095 0.000072
P> A ELKE BT 0.000039
G LS
G35t
A4St
I 5 53 0.000037
R F 715 0.000047 0.000037
({FK)
1KY 0.000033
200 K 0.000033
FEAR S FE Al K5 0.000019 0.000070 0.000013 0.000010
FEAELDS SR A 0.000006 0.000036 0.000011 0.000011
fx R 0.000033
LAEER 0.000037
DA RS 0.000038
NG % 0.000032

¥ HWE BHAEAE - 0.000050mg/1LL T




